
<latexit sha1_base64="RqCYdxS6ebRbUWhf1bTzza3Ottk="></latexit>x <latexit sha1_base64="RqCYdxS6ebRbUWhf1bTzza3Ottk="></latexit>x

<latexit sha1_base64="kb11fRVkQKP/EShH0SfxgnjfTBg="></latexit>

+c
<latexit sha1_base64="kb11fRVkQKP/EShH0SfxgnjfTBg="></latexit>

+c
<latexit sha1_base64="kb11fRVkQKP/EShH0SfxgnjfTBg="></latexit>

+c
<latexit sha1_base64="kb11fRVkQKP/EShH0SfxgnjfTBg="></latexit>

+c

<latexit sha1_base64="owTEnp7TjXOleaMlq0U/X+FlwyA="></latexit>

 (x, t) = A cos[k (x� c t)]

<latexit sha1_base64="x9lAktM1yMFm9tcLHHkcqjSGeic=">AAACx3icjVHLTsJAFD3UF+ILdemmkZi4Iq0SkR2JG91hIo8EiGnLABNK27RTIiEu/AG3+mfGP9C/8M4wGI0xepu2Z86958zcuW7k80RY1mvGWFpeWV3Lruc2Nre2d/K7e40kTGOP1b3QD+OW6yTM5wGrCy581opi5oxdnzXd0YXMNycsTngY3IhpxLpjZxDwPvccIalOlPDbfMEqWirMn8DWoAAdtTD/gg56COEhxRgMAQRhHw 4SetqwYSEirosZcTEhrvIM98iRNqUqRhUOsSP6DmjV1mxAa+mZKLVHu/j0xqQ0cUSakOpiwnI3U+VT5SzZ37xnylOebUp/V3uNiRUYEvuXblH5X53sRaCPc9UDp54ixcjuPO2SqluRJze/dCXIISJO4h7lY8KeUi7u2VSaRPUu79ZR+TdVKVm59nRtind5SjXgigpzDsolDSr254AbJ0X7rHh6XSpUq3rUWRzgEMc0zzKquEQNdfIe4hFPeDaujNCYGHfzUiOjNfv4FsbDB/DukWE=</latexit>

 
<latexit sha1_base64="x9lAktM1yMFm9tcLHHkcqjSGeic="></latexit>

 

<latexit sha1_base64="XpGkbMjul4bOIynJQ6eMyzAAoqE="></latexit>

t1
<latexit sha1_base64="fNlERzQe3bVm7OsKAMDpgbeKQ/Y="></latexit>

t2


